ANSWERS to PRACTICE EXAM #1

1.
C (golf ball)


2.
D (half mile away)


3.
A (Fairbanks, AL)


4.
C (Earth orbit)


5.
D (Moon to orbit the Earth)


6.
A (Earth’s spin)


7.
A (670 Martian days)


8.
C (no months because Venus has no satellites)


9.
D (1.5 Mercury days in one Mercury year)


10.
A (Uranus, because its axis is tilted the most)


11.
B (once)


12.
C (never)


13.
D (full)


14.
C (new)


15.
A (more than 2 meters)


16.
C (sunset)


17.
B (sunrise)


18.
C (sunset)


19.
C (sunset)


20.
A (noon)


21.
B (not possible)


22.
A (possible)


23.
A (possible)

